LA4140

““(VCC—GV, RL—BOhms, THD=10%) iy

‘Output power ‘0.5W typ
‘e Low, qu:.escent ‘durrent Tl C ‘
b . wide operatlng voltage range"Vcc—3 5 to 12V Ty
+ « 9=pin SEP permlttlng sets to be sma11—51zed and ellmlnatlng the need to use
a heat sink..

P
3

MaximUm‘Ratingsnat:T~a='275r°(f.' o C B vunit

Maximum Supply Voltage VCCmax Quiescent mode o 14 v
' : o o Operatlng mode Rp=16ohms 14 v
S . Ry =8ohms 12 \Y
Maximum Output Current .. . - 1o - ‘ 500 mA
Allowable Power Dissipation  Pdmax* T , *750 mW
Operating Temperature Topg . =20 to +70 °C
Storage Temperature Tstg 240 to +150 °C

-— *Pdmax: Installed on 50x50mm2 PCB, See figure of Pdmax - Ta.
= Recommended Operating Conditions at Ta=25°C - : ‘ unit
E‘ Supply Voltage Vee SR 6 v
= Load Resistance Ry, ' _ 8 ohm

Operating Characteristics at Ta= 25°C sVeoe=6V,Ry=8ohms, Rg—600°hms Rf=470hms, f=1kHz
min typ max unit

Quiescent Current - Ieco Y 11 mA
Voltage Gain VG : ) 47 50 52 dB
Output Power Po THD=10% T 0.45 0.5 W
Total Harmonic Distortion THD Po=100mW : 0.3 1.0 %
Input Resistance ri 15k ohm
Output Noise Voltage - VNO Rg=10kohms ,via filter 0.4 1.0 mwv

of 50Hz to 20kHz
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Notice for Using IC
(1) Maximum Ratings
Enough margin covering supply voltage drifting should be prepared and

designing over maximum ratings should be absolutely avoided because
operation near these ratings causes gOLng across the ratings and
leading to destruction.

(2) Terminating Pins )
Turning the circuit on leaving pin to pin of IC shorted causes destruc-
tion or failure. Turn on ascertaining that solder has never shorted pins
when setting IC to printed board.

(3) Location
When used in a radio receiver, IC is designed to locate apart from a
bar antenua enough.

(4) Printed Pattern Designing
As designing a printed pattern, lines of power supply, output and ground
are to be widely short and pattern and peripheral parts are considerably
‘set not to feedback from output to input.
Also, a capacitor C8 at power line, C5 and C9 of anti-oscillator are to
be arranged near to pins of IC.

Application

co .
o.o:u (polyester film capacitor)

pin 'voltage

@ 0-48v

T @) 2.93V
ci Q@ 2.94v
220p a @ 3.02v
sh Q0 V
© 2-97v
) l 9 6.0V
® 5.95v

(3 2.97V -

{polyester film capac:.tor) S An Example of Printed Pattern

NS . (bottom view, 35 x50 mm2)

[Perlpheral Parts] -~ . T U e
Cl,220pF: Anti-noise capacitor. S
c2,§{3uE- Coupllnq capacitor. . Large C2 makes operatlng noise of varlable

e E "reSLStor large.- Small one makes frequency response of low fre-
e Y 4.QUeNnCY Tange Narrow.: '
C3 47uF-. Eeedback,capacrtorrw;Small Cc3 makes the startlng'tlme short, but i
' -*~~;»- ,freguency response of IOW'range narrow. . R e " -
C4 100pF' . For., frequency response adjustlng of high ranger but excessrve
' ,smaII*one ‘is7apt’ to oscrIIate.;‘ o ‘ e

Output capacrtor-

'C6}470uF' It decxdes power of Iow frequency,'




. ©9,0.01uF:

hootstrap capacrtor.

Antl-osc;_llauon, Polyester f:.lm capacn:or 1s ‘ava:.lable.

Supply Voltage,Vcc - V

Exce551ve small C7 causes wave form cllpp— o
“ing point to be: unbalanced at low, frequency range., o
Filter: capac:Ltor._ ’ : : c

Frequency,f - Hz

TClO 100uF* Filter capacitor. Rejects power line hum. Small Cl0 decreases

‘ .rlpple rejection rat:Lo. '

Rf,47ohm ' Decides wvoltage gain.” Closed loop voltage gain is nearly calcula-
. ted as follows. - But ‘about #4+3dB tolerance should be prepared owing
to scatter of internal resistance of IC.

.. VG=20 log (15000/Rf[ohm]) [aB]
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